EARAZROREIERT — 2 N—XBISY —F 20185F9R11H (&) 12@4R4H

mﬂﬁ%—ﬂﬁ c24 B R
[AE4£] 1% :250,000” ~ 23#%&:57,000 M  33&:30,000” . 437&:22,000MH . 57&:15,000 {
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
e R n=-4 :33. -7-7- . — FHEE (&R
1 3 YA RIFF 4 4 8 5-4_0 1(3_3)6 7-7-7-1 | 39.9 1 (4_519) pitund
Ly v TLers BEAXT4—35— afE =3
S BREBA M) :34. —4-5- . — HiEg—th (£R)
olglg| A bVTEY Y 10 N MR A ! f;) AR
L:xF1=Fdr— B:Hravwv KEHS
. o o4 | BHER 1:34.6 1-1-1-1 | 42.0| - 5 546 | PIIHEZ (23R)
3177 HALFR=I 56.;3 2 (-6) () HEFuEZE
REATATv— BiNA T by dO—1)— =igsis
Sy s g 4 o4 | BHED 1:34.8 6-5-6-6 |41.3| — 4 462 | EHEX (£R)
sl 5| 727775} 5.0 (1 4 | R Tr-ZbEVa>
RiN—E>Tv— B HLR—7 HiE 7 7 — L
NS o EFEREA :35. —-8-8- . — EERE (£R)
sl1l1|[noHrvy7 o4 =n 1(325)2 8-8-8-8 | 40.3 2 (423; pens
L:r07% B:eYT7r7LTq iz el
= — S o FERKHA :35. —5-3- . — ERRD (&R
cP 4| F 751 KL #H 5 s 1(325)6 5-5-3-1 |42.5 6 (4+978) ;ﬁﬂai?&
L:wy)EdyR B:¥allIf AR
So 9 4 4 | MHEHK 1:35.8 3-3-3-5 |42.7| — 3 126 | BIEERE (£R)
d > IR 54.0 ) -2) @.tm%ﬁ
Liel /A L=y BUTILEYS i)
- S, =5 FARK— : 00— — HiEg—t (£R)
8 g | TAT TR YT 46 11 e 1.(336).5 2-2-2-6 | 43.8 9 51_745) i
R:g4xS 0 by Bibhy TT7HT 1R =latie
o) 4 4 | BEHEBAA 1:36.5 9-9-9-9 |40.5| — 8 456 | HBARR (£R)
ofge| V277 54.0 (7€) o | W) 7r-xbEvar
L:xAM4vagR—-5— B:7—-LLFq ppal=l% et
® I—F—@EBIERL
|S=7r= 7,8,(2,9),4,5,3,1,6
20—+— |(7,8,2,9,(4,5),3,1,6
3a—+— |(7,8,(2,4),9,5,3,1,6
41—F— (3,4,7,9),2,(5,8),1,6
[ RN
B R 3 2400 | | 71 K 3-9 610M | | # = 3-8 1,010 | | 3:&4& 3-7-9 6,740M
# B 3 1304 =1 550 B 3-8 2,520/ EE 3-9-7 37,560
9 430M 7-9 1,580H B = 3-9 1,850/
7 360M B H 3-9 2,650

ABICOVWTRDTEEERROODE. TR LIV,



